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Al 11,495
OMRBI Y Ml & (4 4) AEA o2
102,628 3 x5 +7 43| 14,368
J| 7,184
Al 7,184
201 Let249] 321,935 339,575 217,640
J| 83,690
Al 238,245
1T AFR 22|l 13,200 27,000 A 13,800




SH: BEALL
HHM: StHIZANE2Y
S DISoteXeIAYE 2H (ot ALY S5 H) (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
OYs2ZLAHoEHEAYE 202 =42
2,000,000 13| 64 &~ 12,000
J| 6,000
Al 6,000
OUST2HGLHIAL HIIQHH(BH)
100,000 1 A x12& 1,200
J| 600
Al 600
02 22244l 308,735 312,575 N 3,840
OYsdLEAHotEHeAlE I3
4,100,000 #2704 &~ 110,700
J| 23,090
Al 87,610
OZBZ2RI(EM22) 40,000 =27 A+ 12 12,960
Ous2xH ARDotax=XMelAlE X2l (4TH) 42,000
AESISIE(20) &I
500,000 x2CH x12& 12,000
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J| 14,800
01 2L HI 14,800 12,800 2,000
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2k A Xt 1,000,000 1000 2~ 10,000
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AA2OIEXMHEAIE RS W ZEZA
7,000,000 =14l 7,000
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9,900,000 *14! 9,900
AEX I WM 500,000 *34 0 A 17,000
202 o4 | 8,000 8,000 0
01 2L HI 8,000 8,000 0
O&X LAt AE H3E & Sl =
204 Hl 20,000 2 200 8,000
206 M = Hl 11,900 7,000 4,900
01 X2 H| 11,900 7,000 4,900
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O8&LxHE=XH2AIE S 43 P
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Al 219,618
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St=E =L ALY 270,000 210,000 60,000
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401 AIEHIZ 2 I 200,000 520,000 A320,000
Al &Hl 200,000 520,000 A320,000
Odte=k =2+ 200,000
St=ERA2eE XM7Y 19,1056 19,1056 0
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01 W2l 19,105 19,105 0
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O2223 (823 8) 100,000& »12& 1,200
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Sh=Co AXl Y Zel(ot=2) Fdl)-E 2] 6,429,000 0 6,429,000
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Al 1,929,000
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= 1,500,000
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2,143,000,000& *99.64% 2,135,286
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Al 635,286
03 Al 2 THHI 7,714 7,200 514
OLFot=2ZHHIAE AIZ=204YI 7,714
DISot+=S A (St ALY SESIH) 4,288,000 8,740,000 A 4,452,000
= 2,251,000
Al 2,037,000
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AR OtSota== AXIAE (EX)
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Al 170,000
401 AIEHI L 2 0] 566,000 0 566,000
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OZ 4R F DtSot=E XA
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AMEHIZ 2 715,000 0 715,000
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01 At 22l 75,669 66,460 9,209
O3JISSEH 24 FJAHAZTAMN =2
9,000,000& » 14! 9,000
O3JIgEYEsHZZ20d HolH &2 M
2,500,000& » 14! 2,500
OXNE3INY DHAEETIA =2 2,500
OQEINIEDM(ZBZHEI - AEHEY) M L H
= 2,500
O3JISEEH 0l - 284 M & M= 3,000
Odt=EZAIE2 DIN &5 8§ MZE
200,000 x5 A 1,000
Odt+=& 2= d& - B1E g Xz 6,000
OBt4+SABE MBIE &8 248
10,000, 000& *1.5% 150
O3J1galAunedI (Gt As88 =+ =
Z) 2,450,948,000& *2% 49,019
02 =224l 24,010 21,010 3,000
OLXNNESE 2Bz (YE)
3003 200+ 12& 720
OLXNNESE 2BE23(S])
1,930& 60+ 12& 1,390
OZJIgEEH ZE208 s X 2clbl
3,750,000 x4 4l 15,000
OBJISSESH ZIZd2ACIANAE KX 2
=]l 700,000 » 14! 700
Oot=EAH=FI 28 =&KX bl 3,200
A=D1 &l 2 OIZ&EX 90,000 2004 & 1,800
HED DM L HENZE S
70,0003 *2004 2 1,400
Odl=E 2= & - FUE g |FHl 3,000
202 044l 4,800 4,800 0
01 SLHOYI 4,800 4,800 0
Oct=EAIEE Bl - =23 ST 0
20,0003 x2H =10 128 4,800
802 Btet= DI Et 10,000 5,000 5,000
(IKEnIgeR=g=g= 10,000 5,000 5,000
OUEE ot AIEZ U2Y=s e 10,000
28 YE0SAME XM (EX) 28,000 0 28,000




A B3AY A
BE: ST HAHAES
tel: ot=EHMYMASE (St ALY SE3IH) ce &)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
< 14,000
Al 14,000
401 Al& Bl 28I 10,000 0 10,000
< 5,000
Al 5,000
01 A& HI 10,000 0 10,000
OALE HE208BAE EXAE(SE)
5,000,000 *20H 2~ 10,000
= 5,000
Al 5,000
402 RI2EX=20l M 18,000 0 18,000
< 9,000
Al 9,000
02 It EAILSEZ (01X E) 18,000 0 18,000
OALE H220I8AE XA (212H)
4,500,000 *4H 2 18,000
= 9,000
Al 9,000
[ {M=1Rs]! 132,138 235,839 A 103,701
801 GilBIHI 132,138 235,839 A 103,701
01 BHoll bl bl 132,138 235,839 A 103,701
Ooulgl bl 132,138
HE2HZHI 1,948,115 1,919,859 28,256
Ol 2HH| (ot AlY SE3H) 1,935,715 1,908, 139 27,576
ol 2AH| 1,935,715 1,908, 139 27,576
101 @144 dl 1,660,706 1,642,121 18,585
01 2= 1,346,389 1,362,844 A 16,455
oJle= 879,843
sE(lleds) 5,924, 1603 x1H x12& 71,090
SE(Huds) 4,971,000& x 18 1 4,971
6= 3,901,300 x7H «x12& 327,710
A= 3,039,500 x6H x12& 218,844
. 82 2,486,700 x4H 123 119,362
. 9= 1,914,800 x6H x12& 137,866
Oolesfa=¢ 9,953
Seli® 4,004,450 x2G *12& *4. 1% 3,941
=S 3,054,5753 x4H «12& x4 . 1% 6,012
o824 89,095
dz2+4 879,843,000& *1/12%95% 69,655
2ot 32 16,440
-20 0] & 100,000& x9H x12& 10,800
—-15@ 0l &f~20 0] 8t 80,0003 »4H 128 3,840
-5 0] &~10E 0] 2t 50,0003 x3H 128 1,800
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N B3NS
Hu: @AY
thel: 2| (St AIY SE3AH) (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa S
29 FI ota =z 3,000
-25E 0] &f 30,0003 x8H » 122 2,880
20 0] &F~25 0] 2t 10,000 x1H «12& 120
Ois=¢ 24,720
i < Xt 40,0002 x13H «12& 6,240
FAIE 20,0003 x11H 123 2,640
SAIE(RM ) 20,0003 x7H « 128 1,680
SAINE(SMAH) 60,0003 x8H 12 5,760
SANF(AMOIZRH)
100,000 7 =123 8,400
OXtH el =% 340,000 »3H 43 4,080
OoRgze=+g 14,100
=5 50,0003 23 128 13,800
SE(A2LEH) 25,0003 x1H 128 300
O&d=¢ 42,300
St=XelANE2RI=E
150,000& 23 128 41,400
St=HMelAE 22 (A& EH)
75,0003 x1H » 122 900
OJlz=gR=¢ 600
dojotd e = 20,0003 x1H » 12 240
dHojtE e =G I3
30,0002 * 12§+ 122 360
OS4H@L(AAHER)
73,0603 x1H x 12 877
Ooxzuz2=e+¢ 134,377
6= 11,0743 x 7B +50A| 2t 12E 46,511
= 10,0033 «6H «50Al 2t 128 36,011
8= 8,980 & x4 +50A| 2t+ 128 21,552
9= 8, 1173 «6E «50Al 2tx 128 29,222
YEASUHHEZS 10,0033 x3F 4 Al 2H+0 1,081
OZHZAHI 130,000& 24 H 128 37,440
OZE S Ottl 879,843,000 x1/12& «120% 87,985
O ¢ IHE &l
879,843,000 *1/12x86%+*1/30% 10 21,019
02 JIEtE B = 62,445 61,750 695
OJl2s8(#az3®) 3,509,700 18 «12& 42,117
O &dz2=¢ 5,070
g2+ 42,117,000 & *1/12x50%*22] 3,510
2+ Jtitz 1,200
-20¢ 0l &f 100,000 1 =123 1,200
d2+Y FItit= 360
-25@ 0] & 30,000 x1H « 128 360
OfgI22=4(88) 50,0003 x1H » 128 600
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SH BIANYA
Hu: @AY
CHol: ol | (sla T A SEa) CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
OXA+H(ol=HdEHET2R)
150,000 x 15 x12& 1,800
Oxh22< 10, 131 & *1H *x50A| 2t * 128 6,079
oI A 130,000& x 1H = 12& 1,560
OY & S IHy| 42,117,000 «1/12%60%*23] 4,212
OI=BICRY
42,117,000 *1/12%86%*1/30* 10 1,007
03 2INHA22XNHE %= 251,872 217,527 34,345
OstZ e (B AIE L) 43,407
23 1,291,540& x 1« 12& 15,499
PIE =y 1,861,540& 1Y *200% 3,724
d24 1,861,540 1% *100% 1,862
M2 ched dl 1,861,540& * 19 *250% 4,654
s 1,200
-bif < X+ 40,000& 1 x 128 480
E 60,000& x1H x12& 720
E4+gRY 90,000 1 x12& 1,080
oteXel &2 Y
150,000 x 19 «12& 1,800
HHZAH| 160,000& x1H x12& 1,920
JFH 2 &b 110,000& 1 x12& 1,320
ey 140,000& x1H = 12& 1,680
HAE S| 1,861,540 1% *120% 2,234
AL Abd| 65,888& x1H x15 989
Al 2+ =& 12,3543 x10AI 2t x1&H « 128 1,483
S22 98,832& 2 x1H x12& 2,372
MEESHEXSS 360,000& x 1Y 43| 1,440
I =4l 150,000& x1H 150
OstHF A (QLAMENSX) 48,882
ez 1,354,580 x1H »12& 16,255
HHZAH| 160,000& x 1H x12& 1,920
JFH 2 & H| 110,000 *1H x12& 1,320
eS| 140,000& x 19 = 12& 1,680
ExgRag 90,000& *x1H x12& 1,080
oteMel &< 150,000& x1H ~12& 1,800
J| e 1,924 ,580& 1™ *200% 3,850
da2s4¢ 1,924 ,580& 1Y *100% 1,925
M & e Hl 1,924 ,580& 1™ *250% 4,812
s < 4,320
—bH 2 Xt 40,000 x1G x12& 480
-2 A= 20,000& x2H x12& 480
-“2UNE(HIMAE) 20,000& x1H ~12& 240
-“2UE(EMAH) 60,000& *1H x12& 720
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SH BIANYA
Hu: @AY
cHol: ol (st EAY SEEl) (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
EEE TS E T ESUED
100,000& 2 »12& 2,400
HAE S| 1,924 ,580& 12 *120% 2,310
ZU2R2E 12,7723 x1H *10A| 2+ x 12 1,533
5422 102, 1803 4L x 1H »12& 4,905
AXNFI=Y 68, 120& x1H » 15 1,022
Il =4l 150,000& x1H 150
O3RA (=4 - A&3Y) 136,988
CJIE2 1,573,770& x3¥ »12& 56,656
&3 1,573, 770& *100%*4 3| *3H 18,886
ARG 100,000& *x3¥ x12& 3,600
254 258,500 3 x12& 9,306
A2t 225
12,4733 x1 . 5%3H x15A1 2tx 128 10,104
SUA2LSS (L2 R
99,784 x150%*3H 15! 6,736
S M ZAH| 130,000& x3H »12& 4,680
nEBXH| 120,000& *3H x12& 4,320
Stexel&Eel=Y 150,000& *3H x12& 5,400
HAE S| 1,573, 770& *x3H *120% 5,666
AL Abd| 99,7842 x3H x10 2,994
s 4,560
b < At 40,000& x2H x12& 960
- AE 20,000& x2H x 128 480
S2UNE(HFMAE) 20,000& x2H x 128 480
~2AINE(EMAH) 60,000& x2H x12& 1,440
-2 ANE(AMOIEXH)
100,000 x1H x12& 1,200
AEHEH BEXSE 340,000& *3H 43| 4,080
OaEg= (sl , 22%) 22,595
=202832 226,825,000 *4.5% 10,208
ALEBERE S 226,825,000& *3.06% 6,941
SOOI BE RS2 6,940,845& x3.275% 228
NEBERLE S 226,825,000& *1.5% 3,403
MHEE S 226,825,000& *0.8% 1,815
204 X2 4 A Y| 42,030 42,510 A 480
02 =28 x4 42,030 42,510 N 480
O&ZEXH| 42,030
52 250,000& x1H x12& 3,000
62 155,000& *7H x12& 13,020
.13 140,000 x6H x12& 10,080
8~9=2 125,000& 9 x12& 13,500
9= (Al 2HE EH A 62,5002 *1H +x12& 750
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